Chapter 7.6 Geometric Series Classwork
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1. Calculate the sum of the first 7 terms of each geometric series. U f¢ C/] z Q& (r T \)
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3. Determine the sum of the first 7 terms of each geometric series in which:
N\
a) the first term is 11 and the seventh term is 704 b) 5™ term is 5 and 8™ term is -40
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4. Calculate the sums of these finite arithmetic series (example 2 in notes)
a) 960 +480+240+ .. +15

b)-6+24-96+... + 98304
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5. A ball is dropped from a height of 3 m and bounces on the ground. At the top of each bounce, the ball reaches

2 60% of its previous height. Calculate the total distance travelled by the ball when it hits the ground for the fifth
time.
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6. A large company has a phone tree to contact its employees in case of an emergency factory shutdown. Each
of the fiv&senior managers calls threfé\employees, who each call three other employees, and so on. If the tree
consists of sey{an levels, how many employees does the company have?
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7. In a geometric series, t; = 23, t; = 92, and the sum of all the terms is &&=5€. How many terms are in the
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